Updated 10/01/12 
 Is 6 closer to 12 or to 10?

Count by 2s, starting at 2


Put these numbers on the number line:

15
25
13
34 
Count by 10s starting with 10


Is 9 closer to 3 or to 11? 
Count by 5s, starting with 5


 Put the numbers in order 
from smallest to largest:


425



Count by 25s, starting with 25



1000 – 997


 

8-1
22-1
60-1
250-1
 
5 + 2
2 + 16
36 - 2
45+2


 

10+7
25 + 10
33 – 10
10 + 53

 

5 + 10
35 + 5
55 - 5
25 + 5


25 + 25
225 – 25
25 + 50
75 + 25


Put these numbers on the number line:     2, 3, 6, 12, 17



99 + 13


200 – 19


15 + ___ = 300


2 x 8
2 x 9
6 x 2


6 x 5
8 x 5 
5 x 7


4 x 9
9 x 7
8 x 9


4 x 4
5 x 5
8 x 8


40 x 15 = 600
41 X 15 = ____


80 x 30


 6000 ÷ 60


29 x 22 =
200   400   600   2000
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